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ECONOMICS

( Honours Core )

Paper : ECO-HC-5016
( Indian Economy—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
weTe firdl ereas Tag i

(a) Define infant mortality rate (IMR).
e o ke fin |

(b) What is the sex ratio in India according
to 2011 Census?
303> T CIRPH pi ses ok wHpire
&2
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(c)

(d)

(e)

(9

h)
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(2)

In which year was the National Rural
Health Mission (NRHM) launched in
India?

SRS (I 5TS P A T WHH 1S
31 3R 2

What is the full meaning of MGNREGA?
MGNREGAT 5| &% & 2

What is dependency .ratio?

FéaMeror spers & 2

When was the Integrated Rural

Development Programme (IRDP)
implemented in India?

TRTS S AT Tawe v IR oS T
=fRe 2

Which State of India is having the
lowest density of population as per 2011
Census?

035 TR EIRPRE WS SRS T TS
TP TG HBIRSLF I 7

Which type of unemployment has zero
marginal productivity?

PR AFITY IR 21 Beeramenet =

( Continyed )
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(3)

() In which year was the Rashtriya

Uchchatar Shiksha Abhiyan (RUSA)
launched?

@ TS g Twes Prel A s F9
2= 7

() Who developed the Human
Development Index (HDI)?

TR ST e A TeIH PRE ?

. Answer the following very shortly : 2x5=10
woTe RAARA oS TYLT T i :

(a) What do you mean by Lorenz curve?
Ag @9 WA B 3@ 2

(b)) Mention two objectives of the Integrated
Rural Development Programme (IRDP).

ptecknferchaathuivergifueci Rl
() What is Human Development Index

(HDI)? ‘

TR S TS XA R 2

(d) Mention two  causes of rural
unemployment in India.

Ses & R 1 PR BE I
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(e)

(4)

Mention two features of Indian economy
at the time of Indepenence.

FRATOR TS SROw WY 11 (IMET Sray
I

'3. Answer the following shortly (any four) :

S5x4=20

w3 Teq fran (R e wilkBr) -

(a)

(b)

()

(d)
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Write briefly about the National
Education Policy (NEP), 2020.

AR P, 20%0 T TF B )

“Development is taking place regarding
the health services in India after
Independence.” Give reasons.

“FREAEI IES OHOS [ RN THfS
0= 1”7 FIRT I 90

Briefly mention the factors responsible
for poor rate of investment in India.
oes RfMGR Ay IR IRPEz Awse
forar |

What is the present status of health
care sector in India? Discuss.

TRES ISAM TSI SRE (TN, S5
340

( Continyed )
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(5)

(e) What measures have been taken by the
Government to reduce income
inequality in India? Explain.

RS (JEUSl Y A SS9 B R
T TS (R ? SIEADA F |

(/ What are the major features of regional
imbalance in India?

SO HorF (TR Ay FTE R R 2

4. Answer any four of the following questions :
' 10x4=40

wore fran 2Py R e vifRbIR Ty o -

(a) Discuss the growth and development of
Indian economy during the post-
Independence period.

TRTST Fere SRSy Ry IR o S
o T I |

(b) Make a comparative analysis between
India and neighbouring developing
economies during the recent decades.

RS PRTRE SRS wF i
T TR Twe @B g
Rema w11
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(c)

(d)

(e)

(6)

What do you mean by poverty? Analyse
the  various poverty alleviation
programmes introduced in India after
Independence.

wRael WA & e IReres I wRwer
TARPIR I SRS o6 91 [feq siwfrmz
S 4 |

Discuss the different measures to solve
the problem of unemployment in India.
SRS fREl AW TG AW A
RfSa JaZPR Ao 341 |

Explain the importance of domestic
savings as a prime source of capital
formation in India. Analyse the trend of
domestic savings in India.

ST T 1S Y3 B Rows v A
GFY I T4 | SOS THKA I YR oo
Regsa w411

Discuss the different causes of
inequality in Indian economy. Mention

the different remedial measures

undertaken by the government to
reduce inequality.

TRee WAl (TR RiSH TRy 3
34| SRARST (T WY TR AR IE

;=1 79 Rt oo Iwgm@® e

(9

(h)

(7)

What do you mean by population
explosion? Analyse the causes for the
high rate of growth of population in
India.

GH-REPAT WA B 127 SRS T SR
I3 PR Ress 341

Explain how the demography of Indian
population has changed after
Independence with its impact on
economy of India.

FAAST FoT© ST STPIRIF QMg R
a6 (r IF SRR TIfeS TR SR
@ SfACR, e 41 |
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